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E, = -RHn2
E, = = -RH12 = -R,
E, =-R,=-2.18x10"]
il sgial| adlo
E, = -RHn2
E, = = -RH22 = -RH4
E,=-RH4 =-2.18x 10-184=-0.54 x 10™]
el sgiall a5l
E, = -RHn2
E, = = -RH32 = -RHY
E, = -RH9 = -2.18 x 10-189=-0.242 x 10™ ]
el ssiuall asllo

E, = -RHn2
E, = = -RH32 = -RH9
E, = -RH16 = -2.18 x 10-1816=-0.136 x 10" ]
() leWIl sgimall a8lo
E, = -RHn2
E,==-RHo =0
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AE=2.18 x 108 ( 1z - T)
16 1
AE=2.18 x 108 -
(¢ T )
_ 15 :
AE=2.18 x 107" (T) =2.04x1078]
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AE=2.18 x 1078 ( -T)
16 1
AE=2.18 x 1018 -
(- 16 T )
AE = 218*1013( ) 2.04x 10%]
AE = hv

2.04%x 108 = 6.63x1073* «
v =0.3x10"°Hz
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